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Well I heard a bout- the fel low- you´ve been dan cin- ´with all

5

o ver- the neigh bour- hood- so why did `nt- you ask me ba -

8

- by or did `nt- you think I could Well I Know

11




  glissando


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Twist it (Skake your tailfeather)

Ray CharlesTranskription: Werner Quicker 11.11
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
           

                       

 

  


 

                    

 



Altsaxophon  

      

  
        

              
 Bass  

+ drums

      

 

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

 

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


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                 
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 
  


               

       



that the boo ge- loo- is out of sight but the shing a- ling´s- the thing to night But if

14

E A E A

that was you and me a now ba by- I would have shown you how to do it right do it right

18

E Cism Fis B

A ha- do it right do it right do it right do it right

22

Ah Twist it

27

E

shake it shake it shake it shake it ba by- Hey we gon na- loop de loop

32

A E B A

 



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
                           
 

 ersatzweise
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 


 
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 


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


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  
     

  
  

      
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
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



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
  

 
 
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
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  



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Shake it out ba by- Hey we gon na- loop de li

36

E A

Bend o ver- let me see ya shake your tail fea- ther- Bend o ver- let me see you shake your tail fea- ther-

41

B

Ah let me see you shake your tail fea- ther- Ah let me see you shake your tail fea- ther-

45













Ah

49

E A

  




 

    
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 
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 
Come on come on baby

Come on come on baby

Do the twist- do the fly- do the swim- do the bird- well do the duck 

Aaah, and do the monkeys- He.hey, watusi- And,ah,what about the frug
Do the mashed potato- What about the boogaloo- Oh, the bony marony

Come on let´s do the twist

 













danach 2 Takte Überleitung in B (wie T 30/31)
undnoch 2x Twist it
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
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

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

  

 
 

 
  





 
  










   



                               
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